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1.

Why should magnesium vibbon be cleaned before
burning in air?

Ans. When magnesium ribbon is expased (0 au, il forms

Ans.

ANS,

a Jayer of magnesium oxide on its surfacc, This
Jayer of magaesium oxide, being a stable compound,
prevenss further reaction of magnesium wilh oxygen
Hence, i1 3hould be clesned before buming in air o
remove (his Jayer so that the metal can be exposed
\0 air properly(lbe oxide layer may prevenl of slow
down the buroing of magnesium),

Wrile (he balanced equuiion for the following
chemikcal reacilens.

(0) Hydrogen + Chlorine— Hydrogen chioride
(6) Bariom chioride + Aluminlum soiphaie ——
Barium sulphste + Aluminlum chloride
(¢) Sodlam + Water —— Sodlum hydroxide

+ Hydrogea
(a) Hyfg) + Clyrg) — ZHCliR)
(5} 3BaCl,(ag) + A),(S0 ) (ag) —— 3BaSO (s}
+ 2Al61 (ag)
(€} 2Nats) + 2H,ONf) — 2ZNaOH(ag) + H,(5)
Write 2 balanced chemical equarion whh siate
symbols for the followlng reactions.
{(a) Solutions of barlum chloride and sodium
sulphate in waler react io glve Insoluble

barium sulphare and the selution of sodlum
chlaride.

(5) Sadium hydroxide solution (In warer) reacts
with hydrochloric acid soludon (In water) (o
preduce sodium chioride solution and water,

{2) BaCl{ag) + Nu,SO,(ag)—> BaSO,(s)

+ 2NaCl(ag)

(b) NaOH(agq) + HCluq) ~—> NaCl(ag) + H,O(/)
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‘l

A solution of u substance X Is used Jor whiie

wathing.

(e) Name 1he subsuance X and wrile its formaols,

(b) Write (he reaciion of the substance X named
io (i) above with maler,

Ans.

AD3.

{@) The substance X is lime or quick lune which is
used for white washing. Iis formule is Ca0.

(6) Cu0 + H,0 — Ca(OH), + Heal

Why is the amount of gus collecied In one of the
test tubes In Activity 1.7, (electrolysts of water)
ts double of the amount ¢ollected in the aiher?
Name Lhb gas

Warey comains two pasts of hydrogen and one pan ol
oxygen. Therefore, during the elccmolysis of warer
the amount af hydrogen gas collected in one of the
fest lubes is double tha of (he oxygea produced and

. pollected in the owher test Tube.
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ADS,

Ana.

Ans.

Why dom (he colour of copper sulphate solution
change when &n iron nall ks dipped Io it?

Iron is more reacuve than capper. So, when an
iron nail 15 dipped in a copper sulphaie solution,
won displaces copper (rom irs solution (© fotm won
sulphate, which is green in colour.

Fe(s) + CuSQ,(ag) —— FeSO, (ag) + Cu(s)
Hence, lbe blue colour of copper sulphaie solution
¢hanges into green eolour because of this deplocement
TERCION,

Give an example of u daubls displacement reaction
other than (hc ooe given In Acrivity 1.10.
Sodium carbonawc and calciut chlonde éxchange
jons 1o form two new compolnds cilcium carbenale
and sodium chlonde.

No,CO,(aq) + CaCl,(ag) — CaCO,{s)
+ INaCl(ag)

. ldenully the substances thal are gxidized and

the substances Lthatl are reduced Lo the following
reachons: )

(a) 4Na(s) +O,(g) —> 2Na,0(s)
(6 CuO(s) + Hyx) — Co(s) + H,ON

(@) Sodwum (Na) is oxidized w0 Na,Q, oxygen is
gening reduced (0 07 ion.

(b) CuO (Copper oude) is reduced o Cu, while H,
gas s oxedized to H,0
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Ans,

d

Ans.

Ans,

Which of the statements about the reaction below are
Incorreet?
2PhQ(s) + C(r) — 2Pb(s) + CO,(g)
(¢) Lead fs gefting reduced.
(») Carbon dionkle is getting oxldised.
(c) Carbon is gerting oxidised
(d) Lead oxide is perting reduced,
(0 (a) 20d (5) (7)) (a) and (c)
(#5) (o), (b) and () (iv) all
(N (u)und (H)are mcorrect stalemenls because *Pb’
and 'CO," wre products and non reactanls.
Fe,0, + 2Al » ALO, + 2Fc
The aboye reacifon 1s wn example of a
(@) comblnulion reaciion.
(d) double displacement renction.
(¢) decompositlon reaction,
(#) displacemenl reaction
(@) Al s displacing iron from iron (111) axide.
Theyefoce, 11 1s a displacement reac(ion.
What happens when dilute hydrochlaric acld Is
agdded o Lron flllngs? Tick the correct anawer.
(@) Hydrvgen gas and Iron chioride are prodoced,
(6) Chilorine gas and iron hyd roxide are producced.
() No reacrion takes place,
(¢) Iren vaH and waler are produced.
(@) Fels} + 2HCl(dd.) — FeCl,lag) < IL(g)
Hydrogen s and teon (1) chloride age produced.
What s u balapced chemical equation? Why should
chemlcal equations be balanced?
Balanced chemical equation means (014l number of
atams o[ ¢ach element should be equal on both sides
ol the reaction.,
For example, magnesium and nxygen combine. when
heated 1 form o single compound, magnesium uxide.
2MR(s) + O,{g) — 2MgO(s)
The reaclion should be bulanced hecause marter can
aenher te created nor be destroyed. The Lot mass of
reactunts should be equal o Lhe Lotal mass ol products.

- Translatc the (ollowing tatements into chemleal

cquarions and then balance then;.
(a) Hydrogen gas cambines with nitrogen w farm
ammoaonla.

(8) 1lydrogen sulphide gas burns ln air to give
warer and sulphur dloaide.

Anw.

Am.

Ans,

(c) Barium chloride rescis with aluminium
sulpbate (o give aluminium chioride and »
preciplute of barlum solphate

(¢) Potassium metal rcuces with water 10 glve
potassium hydrozide and hydrogen gas.

|CBSE 2002f

(@) IHg) + Nolg) == 2NH (g)

(d) 2H.S(g) + 30,{(g) — 2H,0() + 2580,(g)

(c} 3BaCl,(ag) + Al(SO)(ug) — IBASO {r)

+ 2AIC(ag)

{d) ZK(s) + 2H, (/) =— 2KOH(ug) + H.()

Balance ihe following chemical cqustions.

(@) HNO, + Ca(OH), —> Ca(NO,),+ 1,0

(0) NaOH + H SO ,—— Na,50,+ H,O

(€) NaCl+ AgNO, — Ag(] + NaNQ,

{d) BaCl, + H,8Q,— BaSO, + HC]

(a) ZHNO,{ag) + CHOH),(ag) — CalNO,),(ag)

+ TH,0(0)

(4) 2NaOH(ag) ~ H,50 (ag) —> Na, SO, (uy)

+ 2H,0(H

(¢) NaCl(ag) + AgNO,(ag) — ApCl{s)

+ NaNQ,(ag)

(d) BaCl,(ag) + H,S0,{ag) —» BaSO,(s)

+ 2HCag)

Write 1he balanced chemlcal equailons for the

fellowing reacilons.

(a) Calcium hydroxide + Carbon dipxide —
Calclum carbonue + Water

(6) Zinc + Sliver nitrate—— Zinc nitraie + Silver

{¢) Aluminlum + Copper chlar(de ——
Aluminiom chlenide + Copper

(4) Barlum chloride + Polasslom sulphate —
Barium sulphuie + Polassium chioride.

{e) Cu(OH)(ag)+ COYg)—s CaCO (5)+ H,O)
{6) Zu(s) + 2AgNO (ag) — Zn(NO,),(ag)
- 2Ag(s)
(c} 2Al(s) + ICuCl,(ag)—> 2AIC I {@q) + 3Cu(s)
() BaCl.(ag) + K,S0,(a9) — BaSO,($)
+ 2KCl(ag)
Wrile 1he balanced chemical equstion for the

fellowing and {dcalify the rvpe of reacrion In each
case,
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Ans.

Ans.

M.

An.

(¢) Potasiium bromide{aq)+ Beriom lodide{ag)
— Polassium lodlde(ag) + Barlum
bromde(s)

(#) Zinc carbonere(s) — Zinc oxkde(s)

+ Carbon dloxide(g)

(¢} Hydrogen(g) + Chlorine(g) — Hydrogen
chloride(g)

(@ Magnestum(s) + Hyvdrochloric acld{ag) —
Magnesiam chloride{ag) + Hydrogen(s)

(9) 2KBr{ag) + Bal (ag) — 2Kl(ag})

+ BaBr‘,{.r‘)
Double displavement reaclion.

(8) ZnCO(s) ~—> ZnO(s) + OO4{g)
Decompostiion ceaction

(c) Hy(g) + Cly(g) — 2HCIE)

Cambinalion reaction

(d) Mg(s) +21[C)ag) — MeCl.(ag) + Hig)
Displacement reaciion,

What does one mean by exothermic and

eudothermic reactions? Give examples,
Exothermie rcuctions are those reac1ons in which
heat is evolved, e.p.
C(s) + Oy(g) — COy(g) + heal
CH,(g) + 20,(g) —> CO,g) + 2H,0(/) + hea
Endothermk reactions are (hose reactions in which
heal s absorbed, e.g.
CaCO,(r) —*» CaOs) + COg)
Ny2) + Oydg) — " 2NO(g)
Why is respiration considered an exothermic
resciion? Expluic
During respication, glucese combincs with oxygen in
the ¢ells of cur body and pravides enerry. As cnergy
18 released during ?wpimion. Urete [ore, respitation
s regarded s exolhermic reacton.
CH,,0,{a9) + 60,(g) — 6CO,(g) + 6H,0(7}
+ Energy
Why are decomposition rencilons called the
opposite of combinalion reactions? Write
equaLions for 1hese reactions. {CASE 2012)
In decomposhiion reacibon, @ compound Is broken
down into simpler compounds or clements, e

CuCO, (1) —22 oy Cuts) + COg)

Comblnation reaction (s a reaction in which mo
or more elements or compounds combine to fonn
new compaound, ¢.g.

N.{g) + 3H,(g) ——— 2NH (g

Thus, decompaosition and combinarion ceactions are
opposile Lo cach oler.

12. Wrlle on¢ cquuilon each (or decomporilion
reactions where epergy is supplied In the form
of heat, light or clectricity.

Ans. () CaCO,ty) et CnO(s) + COL(g)
(1) 2AEClx) —mE A 0(s) + Clig)
Electn -
) ZH00) — L, 24 (g) + O,g)

(3. Whatis Lhe difference between displacemeni and
doudle doplacement reactions? Write equarions
for these venctions.

Displacement reaction; Those resciions in which
mare reaclive metal displaces less reactive metal

‘from iis salt selution are called displacement

, reaclions.

Fe(s) + CuSO{ag) — FeS0,(ag) + Cu(s)
Double displacemeni reaction: Thoss reactdons in
which two compounds exchange their ions 1o form
two new compounds are e3lled double displacemenl
reactions.,

HCl(ag) + NaOH(ag) — NaCl(ag) + H,O{)
4. Tu the refining of sllver, (he recovery of sliver from
silver aiicute solation involved displacement by
, copper metal. Wrlie down ihe reactioa tnvolved.
Abs. Cu(s) + 2AgNO,(ag) =— CulNO,)(aq) + 2Ag(s)
Capger  Silvec nerute Copper nitrate Silver
Thus, silver mets] ean be recovercd,
1S. What do you mean by a precipitafion reaction?
Expialn by piving examplea
Aps. Those reactions in which two compounds react to
form insoluble compound, which is called precipitaje,
are ¢alied precipitation reactions, e.x
Whea salmnions of silvee nitrare and sodiwm chloride
ace mixed, white precipiiate of silver chloride is
formed,

AgNO,(ag) + NaCl{ag) - AgCI(s) + NaNO,(ag)

On adding dilule hydrocbledie acid to the aqueous
solution ol lead nitrale, precipitale of lead chloride
1s formed.
PHNO, ) (1) + 2HCH(ag) — POCLA) + ZHNO,(ag)
16. Explain the following in fermy of gain or loss of

oxygen with twa examples cach.
(a) Oxidatlon (6) Reduction

Ans. (a) Oxldation: Il js a process in which gain of

OXygen tukes place, e.g.

ZMg['\'} + o](g} ——aﬂi’

Ang,

2MgO(n)

2Cu(s) + O(g) —2=25 2CuO(s)
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17.

1B.
Ans

1%.

Ans.

(%) Reduction! It is u process m which remaval of
axyuen lakes place, ¢.8.

CuOs) 4 1L,g) — =25 Cu(s) + H,Hg)

Fczol{f] = 2Al(t) ——— AI:CI‘fs) + 2Fe(s)
A shiny brown coloured element *X' on hrutinp
In alr becomes blnck in colour. Nume the clcmeal
‘X" and the black colaured compound /nrmed.
*X" s copper.
Copper gels axidised o coppet oxide which is black
In colons.
Theig

ulr)  + O4g) —— 2CuOKs)
Copput Oayen Caprper oxide
(Reddish byown) 1Blsck)

Why do we apply paint on iren anicles?
Pawnting 1s done =0 as o prevent iton (ram msong
When the surface of iran is coated v uth pamni, 11$
wrinee does nol come in ¢onlact with exygen and
moisiure and therefore, cusling does nol Luke place.
Qil and a1 comalning food items nre Aushed with
nitrogen. Why?

When food ilems prepared 1a oil are kept for a Yong
nme. fat and ¢ils present in them pet oxidised hy the

20.

fk ns,

oxyeen. As a eesult ef vxadation, some products are
formed which have unpleasant smell and tasic. To
prevent the (ood ilems coniaimng ol and far from
beimg oxidised and luened rancid, they ure flushed
with an unreactive ras hke mumogen

Explaln the [followlng terms with one example
each.

(@) Corrvsion () Rancidiny

{@) Corrosion: 115 a proccss o which metal ceacts
wilh subslances presenl in Lhe atmuephere Lo
[enn surface coipoinds, e.g. iron reacls with
oxygen in presence of moisture w fomm rosl,
Fe.O . xH. O (hydraled lien(l(1} owde).
Roncidity: When {aod iles prepared in ol
such as polato chips are kept loc long dime,
Mt and o0l present i them gl oxadised by the
oxygen, and they stan giving wnpleasant smell
and 193¢, This condison, produced by aenial
oxidation ol Jals and @ils in foods marked by
unpleasant smell and taste, s called yancdily
Rancidity rpuils the (cod malenals and makes
them wnfit (O eating.

(5)
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